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Complete the following showing all work!
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EXERCISE 20 A

Remember always to simplify the coefficients — they should be given as single number.

1. Find the first four terms in the expansion in ascending powers of x of the following
(@ (1+x)° (b (1-x° (e) (1+3x)"° d @-5x)

2. Find the coefficient of x* in the expansion of each of the following
(a) @+x) ® G-x° (©) (a—3) @) G+2xy

3. The coefficient of x* in the expansion of (1 + px)*is 80. Find p.
4. In the expansion of (1 —ax)", where a is a positive constant, the coefficient of x* is 702.
(i) Find the value of a.
(ii) Evaluate the coefficient of x*.
5. If the ratio of the coefficients of x® and x” in the expansion of (2 + ax)"! is 14 : 25 find the value of a.

6.  Given that the expansion of (1 + ax)" begins 1+ 36x + 576x?, find the values of @ and n.

7.  Find the coefficient of @°5° in the expansion of

(i) (a-2b) (i) (5a+ 3b)®

o
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Find the coefficient of x* in the expansion of (x" +—j
X

: 6 8

1
9.  Find the term independent of x in the expansion of (i) [2x+£) (i) (x+2—) .
X X

10. In the expansion of (1 —2x)" the coefficient of x° is # times the coefficient of 12
Evaluate #.
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1. Find the coefficient of a*h* in the expansion of (a + éJ
I

=
2. Evaluate the coefficient of x° in the expansion of (x" —3} 5
X

13. Find the coefficient of x° in the expansion of (1 —x)(1 + 2x)*

14. Find the term in x° in the expansion of (1 + 2x)(2 + 3x)°

15.  Evaluate the coefficient of x° in the expansion of (1 +2x)(3 +x)"

.




